X8 M A
& KER3 27 37 64
HBA 32 24 56
=5 15 31 46
5 ACHR 23 21 44
i Y= 10 8 18
BT 8 8 16
BARK 12 4 16
Cp o 6 8 14
EHE 5 8 13
BE%E 3 8 11
HERHR 3 6 9
BZHE 2 6 8
ZR.h 3 3 6
HET75 4 2 6
BAE 2 4 6

x8 M A
JERETE 2 3 5
B 3 1 4
FaS o3 1 3 4
EE& 3 0 3
-/ 1 2 3
Z DAk 6 7 13
& Ft 171 194 365
(ZDfh NER £1~35)
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EB ARl
& KER3 33 22 55
5 ACHR 31 10 41
=5 19 21 40
BT 15 17 32
BAE 14 10 24
HBA 13 8 21
i Y= 12 8 20
Cp o 12 8 20
BaARk 5 6 11
EHE 6 4 10
B 4 3 7
] 7 0 7
R 4 2 6
BAE 2 4 6
bEEA 5 1 6

(ZDHL NFR %1~358)
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